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Student Activity Book

Solve it Three Ways (SAB pp. 469-470)

Questions 1-3

. Compact
Base-Ten Pieces Expanded Form M et';: od Check It
1. Record your answer in base-ten —90+2=280+ 8 12 Possible response: I used friendly numbers.
92=90+2=80+12 97 P y
shorthand. 49=40+9=40+ 9 1 90 — 50 = 40 and then I added 3 to get 43.
92 - 49 = 40+ 3=43 -
@M 43
40+3=43
2. Record your answer in base-ten 78=70+8 78 Possible response:
shorthand. 54=50+4 54
78 —54 = 20+4=24 24 4 <10 <10 <10 -0 -10
. YYYY™ Y Y Y YT N
m @)‘ G+ttt
’ ’ 24 28 38 48 58 68 78
20+4=24
3. Record your answer in base-ten 187=100+80+7=100+70+ 17 717 159 + @ =160
shorthand. _ _ _ 27
187 -159 = 159=100+50+9=100+50+ 9
0+20+ 8=28 =159 160+:180
28
180 + (D) = 187
HI 1+ 20 +7=28
20 +8=28
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Fix It (SAB pp. 471-472)

Questions A-F

* See Part 2 of Lesson 7 for a description of the mis-
takes in each question.

A. 80=280+0=70+10
56=50+6=50+ 6
20+ 4=24

B. &9
— 52

37

C. 165=100+60+5=160+ 5
71 = 70+ 1= 70 +1
90 + 4 = 94

D. 713
18%

148

E. 514
264

— 128

136

813
F. g

66

*Answers and/or discussion are included in the lesson.
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Name Date
.
Fix It
Tell your partner what went Estimate, then solve it
wrong here. correctly.
A. 80 — 56 = 80 — 56 =
80=80+0 80 =
56 =50 + 6 2 | 56 =
30 — 6=36
, Estimate:
B. 749
a9 89
= 52 =52
217
Estimate:
£ [ces—71= 165 — 71 =
g 165 =100 + 60 + 5 108-
71= 70 +10 -
30 + 59 + 5=85
Estimate:
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Name

Date

Tell your partner what went Estimate, then solve it
wrong here. correctly.
D. o1 Icantdo3 -5
783 (so I will trade 100 183
— 35 for10 tens . .. / _ 35
Tere Estimate:
E' 1614
284 1 traded a skinny 264
for 10 bits so I do not
- 128 have 6 skinnies anymore, - 128
1146 -
N A
Estimate:
F. 810
93 93
- 27 - 27
63
Estimate:
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4.

Use Subtraction Strategies (SAB pp. 475-476)
Questions 1-7

Possible response: 200 — 100 = 100

“oagi i

90 + 6

Possible response: 197 + 3 + 10 + 2 = 212,
so0212 — 197 = 15.

185 =100 + 80 + 5
62 = 60 + 2
100 + 20 + 3 =123

— 45
28

A. Possible response: I crossed out the 7 and
wrote 6 to show I traded a ten for ten ones. I
added ten ones to the 3, so I crossed it out
and wrote 13.

DI Hizy

My answer matches the answer I got in
Question 6.

C. I traded one skinny for ten bits.
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